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TCP/UDP tuning

= Why do we need to tune?

==) ahswer lies in the bandwidth
== tuning differ with the network




TCP/UDP tuning

TCP

Connection oriented transmission

What to tune in TCP?
TCP window size

MaxXimum segment size
buffer length




TCP/UDP tuning

TCP window size

how many packet are transfer
before receiving any acknowledgement

Theoretical optimum window size:
:BDP (bandwidth delay product)
=bottle bandwidth*RTT




TCP/UDP tuning

s MSS( maximum segment size)

how much data to send in each
packet

MISISE IR0

Ethernet MTU is 1500 and MSS is 1460




TCP/UDP tuning

= Buffer length

how much memory to allocate to
send and receive traffic flow buffers.




Default Testing

server listening on TCP port 5001
TCP window size: 8.00 KByte (default)

[1880] local 192.168.0.207 port 5081 connected with 192.168.96.1 port 1106
[ ID] Interval Iransfer Bandwidth
[1888] 0.6-10.0 sec 2.00 MBytes (1.67 Mhits sec)

\oiperf —c¢ 192.168.8.287

lient connecting to 192.168.08.287, TCP port 5881
CP window size: 8.88 KByte (default)

[884] local 192.168.96.1 port 1168 connected with 192.168.8.287 port 5661

[ ID] Interval Transfep
[884] ©.8-168.8 sec 2.88 MBytes (1.67 Mhits/sec




Testing with different TCP window Value

C=\>dipex»f —c 1922_.168.8.287 —w 1k
WVARNING: TCP window size set to 1824 buyutes. A small windouw
will give poorx» performance. See the Ipex»f documentation.

Client connecting to 1922 _168.68.287,. TCP poxt 50801
TCP window size: 1 .88 KBute

1 local 192 _.168_.96.1 port 11683 connected with 192 _168.68.287
Intex»val Transfer Bandwidth
B8.8—168.5 sec 1.24 MBuytes (995 Kbits/sec)

—c 1922 .168.8.287 —w 1k
TCP window size set to 1824 buytes. A small window
ive poorx performance. See the Ipexf documentation.

ient connecting to 1922 _.168.68_.207,. TCP pox»t 568601
windouw 1 .88 KBuyte

1] local 1922 _168 _.96.1 porxt 1184 connected with 192 _168_.68_.287
1] Intex»val Transfer i
1 B8.86—-18.8 sec 1.78 MByuytes 1.49 Mbits. sec

@ QO
e

—c 12922 _.168.8.28087 —uwv 1k
TCP window size set to 1824 buytes. A small window
give poory performance. See the Ipexf documentation.

[STs BT
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ient connecting to 1922 _168.68_.2087,. TCP poxt 50601
window size: 1 .88 KBuyte

1 local 192 _.168_.96.1 porxrt 11865 connqcted with 192 _168_.68._.207

1] Interx»val Transfer :
i | B8.86—18.1 sec 2.27 MByuytes 1.989 Mbhbits. sec
Windowy Size

1k 4k Sk 16k

test 1 935 1410 841 1670
test 2 430 930 1390 1500
test 3 1980 1450 1420 711
Average 1155 1283.333 1217 1293.667

OO




UDP Testing

Packet Slze | | |
1k ak
throughpuﬁ delay loss(%)throughput delay  loss(%)
............. Test1| 1050 6126 0O) 1050 8365 O
Test 2 676 995 16 850 19.336 0
_____________ Test3| 1050 6761 O 1170 17216 O
______ Average| 800.6667 8.675333 10.66667| 916.6667  15.679 0
Packet Size
16k 32k
throughput delay  loss{%)throughput delay loss(%)
Test 1 1050  33.298 25 1010 39.013 20
Test 2 906  53.141 7.4 1060 45.99 0
Test 3 771 FFd 25 503 99.95 54
Average 954 4652667 5.766667| 1043.333 4366433 6.666667




Thank you




